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SUNGOLFT7 A = va—X

g sz K £ OUT | IN | GR | HDCP | NET e IE sz K & OUT | IN | GR | HDCP | NET w5
2R | S+ s 39 (39| 6.0 330 AE 51 |i8EF M2 45 | 45 | 6.0 | 39.0
#E THE = 44 | 44 110.8 | 33.2 |AE 52 BRI KX 50 | 50 | 10.8 | 39.2
3 |fER & 39 39 | 4.8 |34.2 AE 53 |#&r MEER 56 | 56 | 16.8 | 39.2
4 ki FE 4 41 | 6.0 [35.0 |AE 54 &8 #HN 95 55 [ 15.6 | 39.4
5 HA wME 93 53 | 18.0 [35.0 |AE 55 |fIER B 54 54 [ 14.4 139.6
6 ERE & 53 | 53 | 18.0 | 35.0 AE 56 5Bl MR 4 41 | 1.2 139.8
1T &T 86 40 40 | 4.8 [35.2 |AE 57 |#8%X R— 47 | 47 | 7.2 |39.8
8 | KA MMX 40 40 | 4.8 | 35.2 AE 58 |HX &t 53 53 [13.2 139.8
9 A EE 36 |36 | 0.0 36.0 AE 59 |FHII EX 46 | 46 | 6.0 | 40.0
10 (7K —B% 42 42 | 6.0 [36.0 |AE 60 | KHT ftt 58 | 58 | 18.0 | 40.0 |RE
[RRRE=:: R 41 | 41 | 4.8 |36.2 61 f8R H#t 45 | 45 | 4.8 |40.2
12 )1l BEXR 41 41 | 4.8 136.2 62 |paiE %A 50 | 50 | 9.6 | 40.4
13 |EREF F 47 | 47 110.8 | 36.2 63 | KiF i 56 | 56 | 15.6 | 40.4
14 |#H i 46 | 46 | 9.6 | 36.4 64 | AR 55 | 65 | 14.4 | 40.6
15 | B#t =#&E 45 45 | 8.4 136.6 65 |EEH P& 51 | 51 | 9.6 |41.4
16 |fRlR =R 45 45 | 8.4 136.6 66 |FEF KB 57 57 |15.6 | 41.4
17 & % 51 | 51 | 14.4 | 36.6 67 |[FNI 1E=E 50 | 50 | 8.4 |41.6
18 BNl & 38 38| 1.2 |36.8 68 dt& EX 60 60 | 18.0 | 42.0
19 [JNg &= 44 | 44 | 7.2 | 36.8 69 | fE 47 | 47 | 4.8 |42.2
20 E/fE AHB 44 | 44 | 7.2 | 36.8 |FRE 0 |F5 i 53 | 53 | 10.8 | 42.2 |RE
21 k& =7 44 44 | 7.2 136.8 11 |5E AR 56 | 56 | 13.2 | 42.8
22 |80 RE 43 43 | 6.0 | 37.0 12 |98 |LH 56 56 [13.2 | 42.8
23 |HEIR iE 43 43 | 6.0 | 37.0 13 | 5HE Ex 61 | 61 | 18.0 | 43.0
24 IN-A 42 | 42 | 4.8 |37.2 |ZBRE 74 8RE  H— 60 60 | 16.8 |43.2
25 M2 EHIE 48 48 110.8 | 37.2 75 |RE &t 58 | 58 | 14.4 | 43.6
26 |#EEE FEA 48 48 110.8 | 37.2 76 |t se#E 57 | 57 | 13.2 | 43.8
27 | KNI &= 48 48 |10.8 | 37.2 77 ihe BE 61 | 61 | 16.8 |44.2
28 /MR fEF 48 | 48 110.8 | 37.2 78 |FAER Kk 58 | 58 | 8.4 |49.6
29 IEE ME 41 | 41 | 3.6 |37.4 9 % BRA 69 69 |18.0 |51.0
30 ks F 47 47 | 9.6 | 37.4 |RE 80 |fEH #hth 69 | 69 | 18.0 | 51.0 |RE
31 B %EBA 53 | 53 | 15.6 | 37.4 81 |mn#y =t 87 87 [ 18.0 | 69.0 BBE
32 Il BHE 46 | 46 | 8.4 | 37.6 82 8 R 88 88 [18.0 | 70.0
3 |5 FF 52 52 | 14.4 | 37.6
34 |2/ A2 44 44 | 6.0 | 38.0
35 [HLE = 50 | 50 | 12.0 | 38.0
36 EHE ER 50 | 50 | 12.0 | 38.0
37 |iBHE FETE 56 56 |18.0 | 38.0
38 EWr E5 43 43 | 4.8 |38.2 | EEE
39 |HE EB 49 49 110.8 | 38.2
40 |Fim # 49 49 | 10.8 | 38.2 |RkRE
41 | E# fEx 49 49 110.8 | 38.2
42 & F- 48 48 | 9.6 | 38.4
43 HE mF 54 | 54 | 15.6 | 38.4
44 BT [E— 54 54 | 15.6 |38.4
45 R —& 54 54 | 15.6 |38.4
46 |/ KX 4 41 | 2.4 138.6
47 H8 & 53 | 53 | 14.4 | 38.6
48 E< K BEE 46 46 | 7.2 | 38.8
49 | ER &EZ 52 | 52 | 13.2 | 38.8
50 =R = 45 | 45 | 6.0 |39.0 |RE
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